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Physics 3204
Electricity
For each circuit shown below, find the current and voltage through each resistor.


1. 
2. 

3.


4. 



5.  This graph shows the relationship between measurements of V and I for two different loads. Which load has the greater resistance? Explain.
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6.  Two light bulbs are connected to a source in an electrical circuit. Explain what would happen if one of the bulbs burned out, if the bulbs were connected:
(A)

in parallel with one another










(B) in series with one another




7.  How much work is done on 10.0 C of charge to move it through a potential difference of 9.0 V in 10.0 s?


8.  What is the potential difference of a battery if it provides 250 J of energy to a load in a 12.0 A circuit in 2.3 s?



9.  A toy train set has a resistance of 20.0  and uses a current of 250 mA. If it ran for

one hour, what is the power of the train?



10.  An electric toaster draws 5.00 A from a 120-V outlet for 3.0 h. If electricity costs 9.90¢ per kilowatt hour, what is the total cost?

11.  A wire has a resistance of 0.50 
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.  What is the resistance of the wire if the length has been tripled and the diameter of the wire has been cut in half?

R1 = 12 Ω





R3 = 2.2 Ω





R2 = 6.4 Ω





VT = 34 V





R1 = 120 Ω





R2 = 240 Ω





R3 = 360 Ω





VT = 28 V











VT = 48 V





R1 = 46 Ω





R5 = 32 Ω





R2 = 75 Ω





R4 = 125 Ω





R3 = 95 Ω





R1 = 41 Ω





R4 = 130 Ω





R2 = 110 Ω





R3 = 205 Ω





VT = 72 V
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